SET-1

INDIAN SCHOOL SOHAR
PERIODIC TEST 1 (2018-19)
MATHEMATICS

CLASS: VI MAX. MARKS: 20
DATE: 24/05/2018 DURATION: 45 MTS.

General Instructions:

(i) All questions are compulsory.

(ii) Section A comprises 3 questions of 1 mark each, Section B comprises 2 questions of 2 marks
each, Section C comprises 3 questions of 3 marks each and Section D comprises 1 question

of 4 marks.
SECTION A
1. The whole number that has no predecessor is
The Roman numeral for 600 is .
The smallest four digit number formed by the digits 6, 7, 0 and 9 using each digit only once is

SECTION B
Show 3 x 4 using a number line.
5. Write the numerals for the given number names using commas:
(i) Sixty nine lakh seventy five thousand four hundred thirty
(ii)  Six million thirty four thousand seven hundred fifty nine

SECTION C

6. (i) Estimate 78 x 437 using the general rule.

(ii)  Find 453 + 345 + 647 using suitable rearrangement.
7. Find the sum of the greatest and smallest six digit numbers formed by the digits 2,0, 4, 7,6 and 5

using each digit only once.
8. Solve 2395 x 45 + 55 x 2395 using a suitable property. Name the property.

OR
Rewrite the number 53792613 using commas in Indian System of Numeration. Write its number

name and represent it in a placement box.

SECTION D
9. There are 20 classes in a school. In each class there are 17 boys and 18 girls. Find the total
number of students in the school. Which property of whole numbers would you use to quickly
find the answer?
OR
For the school fest, a ticket costs BI8. There are 25 students in each class and each student bought
a ticket. If there are 78 classes in the school, how much money was collected in all?



SET -2

s INDIAN SCHOOL SOHAR
50p PERIODIC TEST | (2018-19)
& MATHEMATICS
CLASS: VI MAX. MARKS: 20
DATE: 24/05/2018 DURATION: 45 MTS.

General Instructions:

(i)
(ii)

All questions are compulsory.
Section A comprises 3 questions of 1 mark each, Section B comprises 2 questions of 2 marks
each, Section C comprises 3 questions of 3 marks each and Section D comprises 1 question
of 4 marks.
SECTION A
The natural number that has no predecessor is
The Roman numeral for 400 is .
The greatest four digit number formed by the digits 6, 7, 0 and 9 using each digit only once is

SECTION B
Write the numerals for the given number names using commas:
(i) Seventy five lakh sixty nine thousand four hundred thirty
(ii) Seven million fifty nine thousand six hundred thirty four
Show 4 x 3 using a number line.

SECTION C
(i) Find 543 + 435 + 467 using suitable rearrangement.
(ii) Estimate 87 x 374 using the general rule:
Solve 63 x 2395 + 2395 x 37 using a suitable property. Name the property.

OR

Rewrite the number 97623513 using commas in Indian System of Numeration. Write its number
name and represent it in a placement box.
Find the difference of the greatest and smallest six digit numbers formed by the digits 2,0, 4, 7, 6
and 5 using each digit only once.

SECTION D
For the school fest, a ticket costs BI8. There are 25 students in each class and each student bought
a ticket. If there are 78 classes in the school, how much money was collected in all?
OR
There are 20 classes in a school. In each class there are 17 boys and 18 girls. Find the total
number of students in the school. Which property of whole numbers would you use to quickly

find the answer?



